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10.

11.

12.

Instructions — smlemirsei

This question paper contain 70 questions in part A (General knowledge) and 30 questions in part B (Psychology) related
subjects.

Geaielamisreisd uGd ‘o Gurg sifeled 70 eflemesEnDd  OBOHID MG ‘@ o _aeluied  FhSIoTE LT BiGeisd 30
MlGTHBEHID 26166,

The type of question paer (A,B,C or D) should be shaded in‘the’ answer sheet using blue or black ball point pen. The
answers sheet without shading the type of question paper will'not be evaluated.

@ps elamssreis sumsamw (A,B,C or D)alenLsorefsd DisBELTea G e Beob. (&) SGLUY BB umed uruien Guemeneud
Qarewi(p sr1pd e ULl S Loyb. elembHHrellen cuendeil LULeNL SHLLTNI LT, SibH ellenl SHSHTei gL LLL T LTSI
Write the Registration No. using blue or black ball peint{pen at the appropriate box in the answer sheet.

allenLSHHeMsd, Hevld (o) &@mLUY BB umed uruien’ CBlrememeuds Csmemi® Lgey eamienem ASBSFW SLLHH60 611pd, e L emL
SLLeYLD.

Answer all the 140 questions should be shadediin’'the relevant circles using blue or black ball point pen.

Answer all the 140 questions- 140 GasiielsEpoHGD elenl Wellbs GotewiBLd.

Each question carries half a mark. @eiGain@m Cssiiala@id Sieny 1AL alpHIBILIGLD.

The answers to the question should be-shaded in the relevant circles using blue or black ball point pen.

alemLHewen Heold (oY) LY BB UTeb-trulen Guenmeneud QHTERIB bHbHDH UL LHIG6T0 LLenL &L Leylb.

For each question only one answersyis to be chosen and shaded.

Qm alamalBEd @wm ellwLemw W' B Ll S Lej.

For wrong and improper shading, no marks will be given.

HUBTS UL ML SHL1gemm@60m,| MYHHe0 HhHHmsen QFUSTCOT SibsH CHeTaild@ WHICLISIE L SHBTHI.

Write the Registration No. inthe question paper- ugley eewienem GseiallhbGHTele0 61(DHALD.

Write the SI.No of the OMR answer sheet in the question paper at the appropriate place.

OMReienLgamefeh eramtensmr GaxeTellhHmeflled 6T(pSHALD.

If there is any printing error in page No. in the question paper , the same should be brought to the notice of the invigilator
immediately.

2 10g elamsbsreiey g8Hramid SiFal Lewplu, ubsmisst Fflums Gsvsomall LmBeor, GuBuriTensuwimemflib wWe»puill B  Fflwimen
Cxenellbamensnl QUBBISE O&TeTEHLTD SNeYBISBHLILIBGS MBS

All the questions are bilinguial except language questions (English & Tamil)

uTLOu@GE (symidleod wBmid H0) Cxealsamenr HaliHs SmansHs Cxeailbend @yewipl Gomhseaiain C&THaHBUILIL BeiTere.
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PART ‘A’ : General Knowledge

1. “_6Qenmeim eneubHGHIl LBOTEm CuaHaITT 2 _me)y &eveuTenlD CouewiBLD 6T6MmI LITIQUIENT.
A) LSBT B) smujomereui C) eusitemeuriy D) qememeuuwiry

2. ‘QuFaIBENL. MBHSH eIeveVTeN , ‘SUIPLI CuremeF OFbed 61eiB ALl QUWITHM6TS OB T6ITL 6l B6lT

(pemmEul
A) Bemf &psyeny, o .Ceu FTOBTH) B) aumiws Breusvy, wulensv &efl. Goumisl Fmid
C) Gamwabmsy uryHwny, F.enel. SHTEOTSHF6TT D) ufsonBaseneveh, LIDD6D FLDLOMbEGHET.

3. Refractive Index of Diamond?
MEUTH A6 6Tallevass0 616w 7
A) 3.42 B) 2 C) 2.42 D) 3.6

4. Radio isotopes used for the effective functioning of heart?
BHWHHH6 GFweoLmenl QURIGUGBHHID GrigGuir Car@LTiy?
A) p¥ B) Fe*® C) 1=t D) Na*

5. The area of triangle of vertices (—3,5) (5,6) (5,—2) is
(=3,5) (5,6) (5,—2) atetip  (pemeniadenias Qbmemi (LpdbChTamidhded LTLiL|
A) 64 B) 32 C) 16 D) 25

6. The order of [3]in [z5, +5]is
[z5, +5] e16iip @evsAen [3] a1 euflens

A) [2] B) [3] C) [0] D) [5]
7. The word ‘cyclone’ is derived from which language?
A) Latin B) Sanskrit C) Arabic D) Greek
“nasCenett et GFmeL 61hg Gomuled bl CuBLILIL L &)?
A) su& g6 B)\&Loer0d (hH1D C) sy D) &8y asid

8. Endospore formation is seen in?

A) Algae B) Fungi C) Bacteria D) Virus
sTemT@Lmer0BUITT 2_Heumdhald SremrliLheugl?
A) udlsei/ ye0ET B) yehems C) uréteflwm D) emeugerd

9. Exhibition of superiority by a hybrid over both of its parents is called?

A) Heterosis B) Hybridization C) Hypostatis D) Recessive
QuBCBTT Hewev(pemmewwalL DFHE 2 wie] uswiLsemenll GumBm Heolilesr 2 ulfl sreriLBeug?
A) seoligeifluid B) sevlinierorgsv C) ewamriBumerbLrdlerd D) @bmis seienio

10. A new religion wing in the name of “Din-i-illahi” was founded by

A) Kabir B) Shaik Farid C) Sain D) Akbar
“‘Bei-@eorans” etetip LWl WwHIINenel 2 [HeuTdaweT
A) &1 B) eguils ufs C) evgei D) ensuir
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11. The Kudaikhitmatgar movement was started by

12.

13.

14.

15.

16.

17.

A) Kellappan B) Khan Abdul Ghafar khan
C) T. Prakasam D) Sarojini Naidu
GOLE 0L BT QUIbsHma CHTBBIcIHHeT

A) GameniiLie B) &6t onigled &UMT &6
C) T. Wysnab D) #Grmegel mTui®

Which of the following is called as biological enzymes?

A) Vitamin B) Enzyme C) Fat D) Carbohydrates
ol 2 _ulflulwed ellenenuydba samBenIpdSILIGEHBEHI?

A) emeul L ifleir B) Opralsei C) Gamupriy D) ammBurenami” Gyi_

123 agreement is between

A) India and America B) India and China C) India and Russia D) India and U.K
123 2 L &iLgHms 6hdH BThHEnHEGH RemL Gl HenL GLBBEI? :

A) @bHwT wBpID 6ILWFeHeT B) @pHwr BB Fenm

C) @pbHWIm oB@ID FeRUIT D) @bswr OBEID |m&Hul BTHS6N

In Which City was the SAARC Charter Signed?

A) New Delhi B) Kathmandu C) Karagchi D) Dhaka
g gD 6lhdH BBHIHHD MBOWIHHIL LI L FHI?
A) Uzl GL6bsd B) sngLomeni(h C) syngdl D) Lréasr

sugar is bad for your teeth.

A) a B) an C) the D) No article

Correct pronoun.
We scored as many goals as
A) they B) them C)us D) our

Match List-l with List-II:

List-| List-II
(Census Years) (Nature of Growth)
a) 1901 -1921 1. Rapid High Growth
b) 1921 - 1951 2. Stagnant Population
c) 1951- 1981 3. High growth with slowdown sign
d) 1981 - 2001 4. Steady growth
ulgwieo- 1, uliguisv- e et QUTHSHHIS.

U guieo-| uguiso-11

(I0&H6ETOHTMSH

HeTHOBBLIL 60T (HFH6IT) (euenir&FFullesr EuievL])
A)1901 -1921 1. ellengeouten 2 Wiy elemy&Fs
B)1921 -1951 2. 10&H6IT CFHTenduier 6zdhammensn
C)1951 -1981 3. GmBaUGHBET P GBUEnL Ul 2 Wy elengFd
D)1981 -2001 4. Blemeowimer aleEF S
A)3214 B)1234 C)2413 D)4213
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18. The ratio of aqua regia is ?
Qyrey FHrusHer alSHD ............ ?
A) 3 HNO; : 1 Hcl B) 3 HNO; : 3 Hcl C) 1 HNO; : 1 Hcl D) 1 HNO3 : 3 Hcl

19. Which metal ion is present in Vitamin By,?

A) Iron (Fe) B) Magnesium (Mg) C) Cobalt (Co) D) Manganese (Mn)
Al Lidleit Bioed o eiten o _Gooras el 6151?
A) @miby (Fe) B) Guseafdlwib (Mg) C) Gamumeol (Co) D) Gumisats (Mn)

20. The phrase ‘Satyameva Jayate’ is take from
A) Zend Avesta B) Mundaka Upanishad C) Rig Veda D) None of these

‘FHWBen MWIBH eliB CFTBOBILYT 6lbd HI6J6L GMbH 6IBHBIIL L FH?
A) Qe Sieuerog T B) wewiLs 2 L sib
C) fé Geousmid D) @eunmisit sigiad Gevenev

21. The first Buddist council was held at

A) Rajagriha B) Vaishali C) Pataliputra D) Kashmir
WP He0 OendHSH FRSD HOLOUBB S Lb
A) g meid B) eweugmed C) urLeds& b D) &regist

22. Levswoll OUHEISL 60, HITall elSHHWT LLegewid, SHTHFaReuimhHlul SH60THIS, WwSTOCHETUTSHWITL —
o1 FBUl UL BIsEhdE 2 Flulel]
A) warelsHsieuTet 1Tl & HbHIeoTiy B) 2 _.Gou. Fmiprsiy
C) LIDLD6L FIDLOMH S 6] . D) smujworeieuy

23. “odpBeHTE S HUIUT FSHHTHBBIL CFsvauDd. e @Gmefled Lulem eubHieien e
A) 2_suemiowiewn B) 2 mous oiewf
C) 95855 2_meusdiem D) g Guompghevemn

24. Which of the following helpsin discovering new stars and planets?

A) Newton’s second law B) Newton’s first law

C) Newton’s third law. D) Newton’s law of gravitation
6lbd LWeTUTH UdHlwl elenribsiigsel wBpid CHmeisemend Heni(BLIgHS 2 H6)smaH?

A) Bluyl Leflen (pHe0 6ig) B) muyl Leflest @pewimb el

C) Pwl Lefledr cpsiipmd eNg D) dluyl Leflenr Qurg Frlifluwisdeud

25. The unit for equivalent conductivity is?
FLOTET HLHFH HWNeT D60 ?
A) Ohm™ cm™? B) Ohm™ cm? eq* C) Ohm™ cm? eq™ D)Scm?eq™

26. The greatest number which divides correctly 105, 1001, 2436, is
105, 1001, 2436 88w eteviisemen WsFFHuimd el@GUBLD IO 66w
A7 B) 3 C)9 D)5
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27. In simple Interest amount becomes twice in 20 years then rate of interest
Rm OHTend Heleul lguied 20 euHLBIS6T60 ERHLOL MISTESHI 61660 6UMBHL HHBHTN QI 19 6HLOTEIH]
A) 10% B) 15% C) 5% D) 4 %

28. Coins are issued by?

A) RBI B) Ministry of finance C) GOI D) PM office
BTenLBIGEmeT OeusfulBlo Siemioli] 61gI?

A) RBI B) B8 oimwsgsd

C) @b sia D) Wysior  Sisvieusvsid

29. The first jute mill of India was established at

A) Kolkata B) Mumbai C) Ahmedabad D) Baroda
QbH W6 (LPHeL Femied Pemev Himleuli L @ 1b?
A) B608HHT B) awplusmu C) oiswaTUTSH ) D) u@gmm

30. In the aftermath of the Kurangani forest fire, Tamil Nadu government has-hanned treeking in the state for
two months every year in between
A) November — December B) June — August
C) February — April D) March - May
GIMISN emevuled gBULL HalubHbEGL e HUIps iFs @al0suTm sIGBL(PL 6bHH 2 TdH
RemL_Osueulsd wemsuCwBBL LWIBHSGHS HwL el HiesTEHI7
A) Beubur — 19&FLoUT B) odei1 - ou@erol C) Uugeufl — eluged D) wri& - Gw

31. The longest bone in the human body is?

A) Humerus B) Spine C) Femur D) Tibia
weflds 2 L elledr 10& Hemomen eTeviidL]?

A) GoBens 6TeuIDL] B) wpaiGsaiibLy

C) OsmmenL s1uidL] D) &m60 (painGaiguItbL |

32. If is the inability to recall memoaries from the past?

A) Stoke B) Amnesia C) Alzheimer’s D) Meningitis
QHCBTUI  HETIL GUTH6IT | BLIHSHHBM6V [HHLDEYHEMET HleN6a] Fnm Ruisondl?
A) ussMTHID B) oubetflwr C) ssverSiolwi D) apemen smuiFFed

33. The 52" Amendment Act of 1985 deals with?
A) Local Government B) Anti - Defection Law
C) Voting age reduced from 21 to 18 D) State Election Commission
52608 SIFFWevenoli] FUL SHHHBHHLD 1985 etensUILBN Fnmisinpg?
A) o_eitenml_ &l SIFFTHRIGID
B) sl fHsTaus0 HewL. FLLID
C) aunsameaia@d auwgl 21-60@mbal 1895 GBS LILIL L S
D) wrpHlev CHidHev S ememoruiid

34. He is a man of few words
A) a B) man C) he D) few
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35.‘Each’is a pronoun
A) Distributive B) indefinite C) demonstrative D) relative

36. Part XV of Indian Constitution deals with?

A) Citizenship B) Fundamental Rights

C) Elections D) Constitutional Amendments
@b sFwevenoliien LGH XV arensluBp smpIsng?

A) Glufleno B) sigliuenL. 2 _fleninaseit

C) CximHev D) sidlwevswioliy FL L HmHHLD

37. Which Five year plan focused on the growth of the economy through rapid industrialization?
A) Second Five year plan B) Fifth Five year plan
C) Eighth Five year plan D) Tenth Five year plan
Leiteupo 61hd MbHTewihd SHLLID alengeuter OHTHEOLOUIOTEHSH6  LPeVLD AT HETTHTT &I 60
auenT&Flenwt 61l (houend CHToHaeTs CdTanigmHbHa?
A) GremiLtoupl bSTEIGsH S LD B) mbsroug spsrenbs Sl
C) el Lioug ombsHreniGdh LI D) ussteugl ®bsHTeniGsH S LID

38. Who appoints the Chairman of Finance Commission?

A) President of India B) Prime Minister of India

C) Chairman of the Rajya Sabha D).Speaker of the Lok Sabha
SbFHwmeler HFH GH Hmevausn] HWIOSGGD AHSEFD CuBBeT wmy?

A) BhIw Guwrs Bemeveu] B) @bgu Uysiw whaf

C) grgwi Fumeledl FUMBTUIS]T . D) Gevres Fumeledt FUTBHTUIS]T

39. Which toxic gas is responsible for Bhopal Tragedy?

A) Methyl isocyanate B) Ethyl isocyanate C) Sodium cyanate D) Potassium cyanate
Cumured HIWTHIHBG SMTewIOTET 6UTU| 61517

A) OwsHed mBar FuieHan(® B) eis8e0 mBar Fwienan(h

C) Gamguib Fwenen(p D) Gum Lrdlub Fwenen(

40. Which Allotropic forms of\phosphorus used in match boxes?
A) White phosphorus B) Yellow Phosphorus C) Red phosphorus D) Black Phosphorus
ureroLgendledr 61bd LBGsuBmIeni augalld SHUGUL 1 Swimfiided LweGaBg?
A) Geusitewen umeroLFerd B) wehaFsit LmerdLIFerd C) Aeuliy umeroLizerd D) &@miiy urerouyerd

41. The source of energy in any eco system are
A) Osmotrophs B) Autotrophs C) Lithotrophs D) Anti — toxin
Glpplemevuiulevles MBMeV6T (P&l HTTID?
A) eervBiom e eowo  B) o1t GLmioenii_svid C) qef wewisvid D) et p&Fa

42. flnF QUISHHIHET HHWDH FhSHH AIHHUIT LDHTXMEN FRIGID 6160B DHOLIHL 2 ([HEUTHEHILIO]T
A) o rsmd LewigHiy B) uf&oriaemneveh
C) wrugp Geuspruisid D) Gsmu. e & &bHyesy
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43. What is phototropism?
A) Movement of plants towards chemical B) Movement of plants towards light
C) Movement of plants towards soil D) None
Gum_GLrl_gmiilerold eT63IBTEL  6T60T6N ?
A) Gagseienr Geoudil GUITHT CBTHSW FuidbsiD B) Qaysefen gefl Grréhdlul Guibsid
C) Qeysefen wew GHTHAUW GuibhsLD D) gaidsvensv

44. Match the following

a) Indica - 1) Visakadatha

b) Mudrarakshasa - 2) Kautilya

c) Arthasastra - 3) Kalidasa

d) Shakuntalam - 4) Megasthenes

QuUTmHIHSHI%:

a) Gewngsm - 1) eNFnssHHSHT

b) wsymym gD - 2) Gsemgeowii

C) SITHHFTEOATID - 3) sreflsrat

d) sn@hbsevd - 4) Gserogeerd

A)2 134 B)4 132 C)1324 D)4123

45. In kanchipuram Kailasanatha Temple was built by

A) Narasimhavarman- | B):Dantivarman

C) Narasimhavarman —l| B)’'Simma Vishnu
BTehFUTHH6L mBeLTFBTHT BoHmullemevd &L 19Ul

A) wpseomd BIFIDLO6ITIOE ¢ B) sba euioei
C) @uewimbd BIAIDLO6UTIOEH D) b eledem

46. Fflwmen  Een6EnTIHN6TH  dT60I.
1) IBISmBHESBTH allgel DMSH WL T Geualalbd (WPHe0 SO FBHNSH - GHNHIHHIGBM] AJFLOFLD
2) Qregul FpiemBulen HhHendy. = EHTaHe0
3) ‘BiLs opd eeip CUIBBLHGUa] - emel.(p. CHTemHBTUIE
4) Fpiemd algaIHme S WOGFFBHH HMEL QIQeILDTHEIUIN]T.
A) 12 wBmpb 3 B) 1,2 wBmwb 4 C) 1.3 wmmib 4 D) owmansbgid i

47. Hydraulic lift works on the principle of?

A) Pascal’s law B) Hook’s law C) Archimedes principle D) Newton’s law
bilwed &reEE 6bhsd elguleiiy GFuwsdUBHBSEI.
A) urervssy 6l B) e ol C) oyaifligerd HHHieuD D) Muyl Leir eNg)

48. Which one of the following is the major feature of the Indian Economy?

A) A Capitalist economy B) A socialist economy

C) A mixed economy D) None of the above

eiteupldo 61& QbHWI GUTmHeNTHTTSHSH 6 (pddlwiorer Fplubgmisellsd @aimBTes alenmhigasng?
A) wppevreflihsin QUTHETTSHTTID B) Fwsito G enmaryid

C) sevliy QUITETTHTTID D) Qeummieit sigieyilsvensv
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49. Which country helped for Rourkela (Iron & steel) Factory?

A) Russia B) Germany C)England D) Japan
HBseoT @B 61..& UMVEG 2 FHalw BTH 6157
A) Jegwr B)GigiLo6df C) @maleonhgl D) ggtiumedt

50. If hemisphere and cone have same base and height then ratio of their volumes are
QM DAMIHCHTEN(PD, FbUD @B Sigliudsswld @6y 2 wyap CuBBIHLLT6T Dieums e
BN D6 H6M60 &I HLD.

A)2:1 B)1:2 C)3:2 D)2 :3

51. The number subsets of the set A = {a,e,i,0,u}is
A= {a,ei,ou} eafled @m 2 I HHIBNGT 616016300 HMNS

A) 30 B) 31 C) 32 D) 33

52. Which range is the oldest mountain system in India?

A) Karakoram B) Vindhyas C) Himalayas D) Aravalli
QbFHwmelled L0&L LIPenLOWITE LDensuHOIHTLT 61517
A) sry@asTyib B) albauiloenso C) @uwinensv D) suye16060

53. The first sub-urban Railway was started in
@bHwmeler (pHev LmmHT ruisd CUTH@GaIHadl 6bhdH UeWH OHTL RS L &7
A) 1995 B) 1919 C)1925 D) 1953

54. Trypanosomiasis is a disease transmitted by?

A) Sand fly B) Tse-tse fly C) Fire fly D) May fly
AlLGerm@sromdlwimenilerd 616 CBTEMUIS ‘BLGGID 2 ulfl?
A) wemied L& B) Qs d yssl C) & usd D) G ysd

55. The drug most widely used against. AIDS virus is?

A) Zidorudine B) Miconozole C) Nawoxylol D) Virazole
AIDS 2 _ufitesmsvel emeugerdd@ 61&HImed LWaTLGSHSULIGBD @bl Gy ?
A) eaGLmmlg6d B) enioB@sn@enmGamsd C) mrGsumengsursy D) elyGamsd

56. The Directive Principles of State Policy can be Classified into
A) Liperal and Gandhian Principles
B) Gandhian and Liberal Principles
C) Socialis, Gandhian and Liberal Principles
D) Social, Communist and Gandhian Principles
AI&EHG UPSTL B CEM(pmBE6T s1hHmen (Wwemmullsd euendLLIBGHSLILL (Beiteren?
A) smymemoul (10) &MhaHUI CHm_ LITB 6N B) snhglul (10) Hrgmemiows Gsm LImBes6iT
C) swsip, srhHW (10) srymenoul GsmumbBaei D) ggio, sbugelsd (10) sThHul CsmumbBael

57. How many times the Preamble of the Constitution of India amended?

A) Once B) Twice C) Thrice D) Still not amended
AbFHUl SFF WV (PHEUHT 6THHME  (LPemB  HHSHBHLILIL (HeiTend)?

A) 9mpsn® B) @yewi6 (penm

C) csiipl (e D) @&IsIld @BUPDB Fal HHHSHLILIL 61606060
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58. He is a good player

A) S+V+A B) S+V+0O

59. They play cricket every Sunday ?

A) aren’t they B) don’t they

60. Country Currency
i) China -a) Yen
i) Malassia - b) Riyal
iii) Saudi Arabia - ¢) Rigit
iv) Japan -d) Yuan
IIC) Q& sveument
i) deorm - a) Guei
i) @sodlwim - b) fuwmed
i) Feydd <@yilwir - C) fmd
IV) sgriLimest - d) weumedr

A) a b c d
C)d C b a

A) North — west B) North — east

4 ?I're Best Defence Training Academy

C) S+V+C D) S+V+IO+DO
C) are they D) didn’t they
B) b C a d

D) a C d b

61. Which monsoon great source of water in Tamilnadu?

C) South — west D) South - east

BSOS HFH 6 QUHLD B UHTTOTES allemiGLD Ly Cosnp?

A) s BuoBE B) au - Spse

62. Find odd one out of antacid?

A) Sodium sulphate

C) Megnesium hydroxide
IIOVBHHE  DIELVTHENSE  HEWIL I,
A) Gsmouib &6

C) Ouéeafdlud enaml Jibams®

63. The Ozone Depletion is mainly caused by the gas?

6sme Siflalmen oiFHHenallsd 2 [HeuTHGW eumu|?
A) NO, B) SO,

64. Which is insectivores plant?

A) Cuscuta B) Monotropa
UuFs 2 etemid HTeUFD 6157

A) sero@L LT B) wr@ewm Gymum

65. Most widely used bioweapon is

A) Bacillus Anthracis B) Bacillus subtilis
W& ugelsorsds LweL®Gn 2 ulfl ouusin?
A) Budlsveverd s TT61D

C) aluMBuir &mev@y

Contact — 7200400395 / 398

C) Omeir — GuBE D) Opeir - SipdbE

B) Sodium bicarbonate
D) Aluminium Hydroxide

B) Gamouib emusmiuGe
D) sfeiwid svaml jreemnd®

C) CFCs D) CO.

C) Vanda D) Drosera
C) eumemim D) Cyerogm
C) Vibrio cholera D) None

B) Gudlsverd gligevedlerd
D) gaidlsveney
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66. The Third mysore ware came to an end because of

A) Treaty of srirangapatnam B) Treaty of Mangalore

C) Treaty of Madras D) Treaty of Pondicherry
APSIMITLD eWID@GT GUITT (1pI96)HhE QIHAISHBE STTERIOTEN 2 L 6TLIQHNSH

A) nfrrisULIgeRT © I 6iLigd&emd B) whisEnT 2_L6iLigoHama
C) QoL gmerd o L 6iiLigdemes D) unewig&@aM o L aiLigdbens

67. Choose the wrongly matched one.

A) Aligarh Movement — 1865 B) Arya samaj — 1875

C) Brahmo Samaj — 1828 D) Satya shodhak samaj — 1873

SAUBTH QUTHSHHULLL Semewt 6157

A) odsrm Quibsd - 1865 B) eyrur Qusd - 1875

C) g Fommid - 1828 D) s#5wu BGarmpsd gFommid - 1873
68. QUITHGHHIS.

1) e»eur(pdHSI - () SIuBHT LBHOET, LTI aI60 Lo

2) eumed - (b) efyssmul

3) &Teme0 B6NHESenLLIGH - (€) salyTmen ®Hms

4) uTy A BT e - (d) Fevlenr ApiEens

A) 1(d) 2(c) 3(b) 4(a) B) 1(b)"2(c) 3(a) 4(d)

C) 1(c) 2(a) 3(d) 4(b) @) 1(b) 2(a) 3(d) 4(c)

69. The young’'s modulus for a perfect rigid body.is?

A)O B) 1 C)0.5 D) Infinity

QM (WU FHewioll Qummefe Wmi@emrsLD?

A) 0 B) 1 C) 05 D) apgeisl
70.4= —3i— j+8k, b= 1—2] 4k ¢=4j— Skthend -[b x ]

d= —3i— j+8k b=1~2f+k ¢=47— Skesflevd - [b x ]

A) -3 B) 3 C)6 D) -6

71. The equation of tangent of circle x? + y? = a? Passing through the point (x;, y,) is

72.

x%2 4+ y? = a® aqais e LsHAnE (x1, y1) aem Lstefulsd OHrHCsT BF Flosm®

A=+ L= g2 B) =4+ &= g2 C) x x; + yy; = a? D) x x; — yy; = a?
X1 Y1 x y

river is called the ‘Red river’ of India.

A) Ganga B) Bramaputra C) Kosi D) Damodar

auprag @bdwrela ‘Feull] w616 NMPHBLILBEBSI.
A) ®miensd B) Wbl sgHym C) Gxrd D) s1@wnsi

73. The Procedure for the amendment of the Indian Constitution is given in

AbHw sipFwsvenioliien HmHHD UBK @D eild) eTeren?
A) Art.356 B) Art.153 C) Art.361 D) Art.368

POLICE, ARMY, NAVY, AIRFORCE Contact — 7200400395 / 398 Page 10




74. What is the time
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‘%) apiliueL e avipunb’

your watch?
A)in B) by C)a

75. Important reason of migration?

A) Poverty B) education C) Health
LI QuwiTe] (PpHSW STFeTD?
A) eipemip B) ssval C) ssrsmyid

76. Who is the reason for spread paper currency in Europe?

A) Nicolas B) Jhon C) Marcopola
Crmiwmrelled &TddH LUsHID LITeN  STJ6mTLomede)]
A) B&8smeverd B) sgmeir C) wri@smBuTBeur

77. Veerapandya kattabomman was hanged at

A) Nagalapuram B) Panchalamkuraichi
elTuUTemTgul &L L QUTIDLDGT HTdhaled L’ L @)L b

C) Kayathar

A) BrsEeTLIID

B) umehgmeom@Fd C) swsHsTmI

78. The south Indian liberal Federation was formed on

A) 28 September 1916 B) 20.November 1916
C) 15 September 1917 D)119 November 1917
Opeadipdul Hev 2 femioF Fmisd CHTBBIONSHHILILA, HT6iT

A) 28 Qaiibur 1916  B) 20 mewbuir 1916 C) 15 Qauibuir 1917

79. Which one of the following is not reserve food.of fungi?

A) Glycogen B) Fat B) starch
LeiieumelseuBmIeT 61k Lehewgulen Gl o emiey 160607
A) slenendCamegent

B) Gasmepiy C) eroLnitd

80. The Medicine for typhoid is?

A) Chloroquin B)Vitamin A
mLLITWIH STUIFFL OHHESeT Gy
B) eweu Liflett A

C) Chloromycelin

A) &B8enmBym@uiledt C) &GenmmBymeniodlelsbr

Contact — 7200400395 / 398
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D) an

D) Tour

D) smmieor

D) Fahien

D) urauwimest

D) Sivaganga

D) deusmiens

D) 19 meubuir 1917

D)A&B

D) A uopmio B

D) Sulpha drugs

D) gebum — 1ggéberd
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PART ‘B’ : Psychology

» Select the Related Number / word / letter?
Fflwren Senemienuid SIS,
81.25:37::49:7
A) 41 B) 56 C) 60 D) 65

82. 7584 : 5362 : : 4673 : ?
A) 2367 B) 2451 C) 2531 D) 2485

» Find the odd one / seaupren geiens Cxies?
83.A) 78: 15 B) 79: 20 C)88:16 D) 69: 15

84. A) 6385 B) 7496 C) 3658 D) 4659

85. If AMOUNT is coded as BNPTMS, then AROUND is coded as?
AMOUNT eeiuengd BNPTMS, aisiim) stapgslenmsd, AROUND ersiiieng, etsieumm) er(ipgieu?
A) BSPUNT B) BSUPTN C) BSPTMC D) ZSPVOE

86. If TRANSFER is coded as RTNAFSRE, then ELEPHANT is coded as?
TRANSFER ssiiusnss RTNAFSRE, sisiim stgpglemmsd, ELEPHANT erstiuieng steieummi stpgieui?
A) LEPEHATN B) LEPEAHTN : C) LEEPAHTN D) LEPEAHNT

87. If PEPPER is coded as @#@ @#!, thenyAIM is coded as A ?+ , then PAMPER is coded as?
PEPPER eieiiueng @#Q@ @7#!, eetimiid; AIM esiiieng as A ?*, siediml siqpdlenmed, PAMPER
T6NILINS  6T6UEUTHI  6T(LDGHIGN]T?

A) @ A+ @#! B) @*A @#! C) @ A+ #@! D) @ A+ @ #

» Find the missing Number in series?
allGULL  6T60IENEIN  SHITGNIS !

88. 6, ?, 15, 27, 51, 99
A) 10 B) 9 C) 11 D) 12

89. 128, ?, 82, 62, 44, 28
A) 99 B) 104 C) 109 D) 106

9. 4, ?, 19, 39, 79, 159

A) 10 B) 8 C) 12 D) 9
91.3,5,9, 17, ?
A) 42 B) 26 C) 65 D) 33
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» Find the missing letter in series
AlBULL IHMBS HTEHISH.

92. BFK, KOT, UYD, ?
A) BFJ B) ADG C) FJO D) PSX

93. NOAB OPBC PQCD ?7?77?7?
A) QSDE B) QRDF C) RTEF D) QRDE

» Arrange the following words according to English dictionary
L6iTeuHLD GUTTHMBHEM6N YhiGler BITHUled 2 _eitenend GuT6L euflensFILBGHSHMNLD.
94. 1) Maternity 2) matriarchy 3) Matchbox 4) Matricide
A) 3,1,2,4 B) 4,3,1,2 C)3,4,1,2 D) 1,3,4,2

95. If day before yesterday was Tuesday means, what day will be on day after tomorrow?

A) Saturday B) Sunday C) Friday D) Thursday

Crmemmuwl (peiFHled OFeusumul sleilled, HTEN6TUI LOMIFHELD 616060  &IPeHLD?

A) sFailddlpenio B) epmuim C) Geusiterf D) elwmpei
9%. + =X, —2 +,X = ++> —,

100+5%x10+2-5=7?

A) 35 B) 45 C) 30 D) 8

97.8+5-5=4512 + 6 - 5 = 77, 14 + 5=<10=7?
A) 60 B) 80 C) 58 D) 76

98. Nisha is taller than suja. Nina is taller than Nisha. Nila is taller than Nina. Misha is the tallest of all.
If they stand according to their-height, who will be in the middle?
A) Nisha B):Nina C) Suja D) Nila
BT 6T6TLIOIST FHiggTenal . 2 WIFID. [HI6T 6T6ILaIeT HagTenal 6fll. 2 WD, [H6VT 6I6ILIOI6T [HleTene
ol 2 Wy, ey SlmsialmIujld ol 2 wyTerelsT. Seufsen o Wy euflengulsd Bemsme, Wy
boHellsd BIHBLT)?
A) Blagr B) mleorm C) &g D) ®eur

99. A is shorter than B but taller than C, D is shorter than A but taller than C and E is shorter than B
but taller than A. The shortest person is ?
A aaiiuany B-mg ol 2 _wgd @eome) semmed C-23 ol o wigld oigsbd. D esiuenj A-swen il
o wyb Gmme pemed C-m ol 2wy s, E eaaiuenj B-y ol o wgb @enmpe) opemsd  A-
el el 2 _UITD DIFHID. 61660 2 _WIJID GHeNBEUTEINT Wiy ?
A) B B)C CA D)D
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> Study the following figure and answer the questions given below.

4 17 . ..
25 } [ 1 —= artists |/ mipsisst
3
22
& O » Players sllensmumie [ af miss
t] — Dactors [ inm&ssuT s

30

100. How many doctors are both players and artists ?
61HHEMEN  LDHHHITH6IT, BIgHTHeT BMID ellenemuTl (B eiJJHenTed 26T ?
A) 22 B) 8 C)3 D) 30

» In the following figure small square represents the persons who know English, triangle to those
who know Marathi, big square to those who know Telugu and circle to those who know Hindi. In the
different regions of the figures from 1 to 12 are given.

1z —+ English

Marathi El

g 11 Hindi

10

— Telugu

101. How many persons can speak English and-Hindi both the languages only ?
THHME [BLITHET YIS0 OBBID @BHE 0L BID  LIgdhaslementiy ?
A)5 B) 8 C)7 D) 18

» Which one will replace the question mark ?
Cxeital @MWILL @LgHgHed suyCeussinioui) eteiten?
102. 4, 8, 28, 80, 244, ?
A) 152 B) 328 C) 528 D) 728

103. 165, 195, 225, 285, 345, ?
A) 375 B) 490 C) 320 D) 305

104. From his house, Lokesh went 15 km to the North. Then he turned west and covered 10 km. Then he
turned south and covered 5 km. Finally turning to the east, he covered 10 km. In which direction is he from
his house?

A) East B) West C) North D) South

CourBaag Sieuei efl 19el\hbgk 15KM eudb@ Crrod OFsvdmmer. et GuomeE Hmld 10km
Qgsvdmrer. e OHB@& Hmwl SKM GFsvdmrer. @miduied @lipb@ Hmrl 10KM BLbBEI 1pigsHamme
elelled e &L I96Vl[Hh&HI 61hdH HemFuilsy 2 _6iTeNmesr?

A) Bipde B) Gube C) aLse D) Gabe
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105. If V2116 = 46 then the value of vV21.16 + v0.2116 + v/0.002116
A) 5.106 B) 5.116 C)5.122 D) 5.221

7217?
106. Simplify / smé@as: “[}] ] l

A) - B) 16 C) = D) -16

107. B is the only son of A. C is the mother of D. A is the mother of C. The relation of B with D is?
A) Paternal Uncle B) Father C) Maternal uncle D) Brother
B aistiuauiy A-sit @@y amsit, C eteiieny D-eir gmus, A ereiuen C-sor smul etedlsv, B eteiieny D-i@
eleoTell 2_me6y?
A) Quiluiim B) shos C) 1omwedr D) #@asnsmyei

108. Count the number of triangles and squares in the given figure.
CaThHSSULLL LLSHH60 61HHmeN (LPHCHTeMIMIB6NT OBBID FHITHISET S 66160 !

N
N

A) 21 triangles, 7 squares / 21 (1p&Gsrewid, 7 FHIkatdH6ll
B) 18 triangles, 8 squares / 18 (p&Csmeniid, 8 Faiymisbein
C) 20 triangles, 8 squares / 20 (p&@asmeumiid; 8, &&HIymidbei
D) 22 triangles, 7 squares / 22 (1p&Gabrewitp, 7 /& SI) BN

109. Count the number of squares in the given figure.
CaTHSSULLL LLSHH60 61HHMeN FHITHIH6T 2 _6iTernen?

A) 11 B) 21 C) 24 D) 26

110. The total age of a mother and her daughter is 60 years. The difference between their ages is 30
years. Find out the age of the mother?

STUI DBEID 10BN QIUIHIHBMET FnBHe0 60 QIMLBIEET HESGID. dauJHellsr alulkd elsHurgnd 30
eTeullsL, Hmulledr euuIgh?

A) 40 years B) 45 years C) 50 years D) 55 years

111. The age of Ramesh is double as that of Mahesh and half as that of suresh. If the sum of their
ages is 70, what is the age of Ramesh?
7@wader euuwigh 10CHaG CuTeTm @FewiB L BISTEHAID FHETadler aluigHed UTHULTHID ERHBEID 616M6,
APRIMHEML UL eILIGHIH6M6T FnBHev auuigdl 70 eelle0, JEOH6T aIUIGHI 6T6d6n?
A) 20 B) 30 C) 40 D) 10
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112. There are 8 members in a friends group who greet each other on the deepawali day be sending
cards. How many greeting cards will be used for this purpose by this group?
BewILITH6T Gpelled 2 esitern 8 Cu Humeuellb@ UTDHEH D eNLBHM6T HhBEHHG RenLGuwi Liflompsl
OBTEMILTEL 61HHEMEN AUTIDHH DML B6IT DiauTHer el G ufliormul 19meEL?

A) 50 B) 64 C) 56 D) 60
113. Kelptomania is a disorder of
A) Stealing things B) Badly making things
C) Wrongly preparing things D) Disorganising things
“ HQarICLTGLoewiT” afg; SO bataT Qb aem® GHTILTGLD .
A) QUITEHaTH®ET B SHe0 B) Qs L aifliled QUITGBATHET 2 [HAITdHES60
C) SapTer QUITHaTH6T SHILITHSHSH60 D) QuITheTHar FFHT 6lbhGHe0 .

114. Conflict arises out of.

A) Stress B) Frustration C) Inferiority complex D) Super ego weakness
el GUTTTLLID a&eT dlanatand o RHDGI?

A) et ApGSSLD B) wet pihle

C) SMpa| T ILITEIEMLD D) Gualblaew Slssdlar Headal

» DIRECTIONS (Q. Nos. 115-119)
Study the pie chart carefully and answer the questions given below.

The Population of a town = 20000
BBIHIBI6N WdbH6iT OFHTenas = 20000

Agriculture
33.3%

6.7%
Trade 30%

Industry

20%
Service

Transportation

Agriculture  — alleugTuib
Service — Bzemeu

Trade — euemileId
Industry — QHMPOBFTENEL
Transportation — Gurs@aTsHa!

115. How many more people are involved in service than the trade?
ol BHmSB Sl CFemaubHHIMBUNEL 615HHME BHLITFH6T HHBIOTH 2 6iT6reny?
A) 3660 B) 2660 C) 1660 D) 660
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116. What is the difference between the maximum number of people involved and minimum number of the
people involved in various professions?
@nibs GBUUILUL MBS HHBEHTNED DAHHIEHHET 2 6o HiMBUled SRMHBEID LDEHHEHEHBEGLID
GMBAUTEN LDHEH6IT 2 _6iTen HiemBUTled QRMHBGID LDHHEHHGHID 2 6116 ellg S UWLTFID?
A) 2640 B) 3640 C) 6320 D) 5320
117. What is the sectorial angle made by the people involved in service in the given pie chart?
Cremau FHiemmulledt CHTemT Di6T6) 616060 7

A) 36° B) 90° C) 72° D) 110°
118. What is ratio of the people involved in service to that of industry?

Cremeu OBEID COHTHL Hiewmulsd o siteneujaeile aldHD HTeviias?

A) 1:2 B) 3:4 C) 2:3 D) 4:5
119. What is the central angle corresponding to industry?

Opmpled siemmullest Goment Si6Ne) 616560 ?

A) 92° B) 118° C) 98° D) 108°

120. Read the information and answer the question.
Having set out from home at 10.25 am, it took me about.28 minutes to reach the railway station.
To my relief, the train was late by 42 minutes. It finally arrived at 11.25 am. If the train had arrived
on schedule, by how many minutes, | would have beén late?
A) 9 minutes B) 10 minutes C) 11 minutes
HBAUMD BeilG LIghHdl, CHealdend@ll LHV HIa|LD.
&memev 10.25 wewlld@ el 1960hbal LBLILLIC\ 6Tedhd, @Tuilsy Bensowlld OFIBenLalbBa@ 28 IO BISHeIT
UGl 6160 DFHTagD @Tuied 42 HIOILFIE6T ‘HTOHNS albHH. DH SHoLFulled HTemsv 11.25 el
abgd Cabdal. @m Gouemsv Gyuisd @S CHILLY FAWTS UHHHHSHTEL, BT 6I616U6TE)] HILOIL MIGH6IT
STOFHLOTESIUNHLIGLI6H?
A) 9 B ksl

D) 12 minutes

B) 10488 miseir C) 11 P riser D) 12 Pl missit

121. Study the table and answer the question.

Age Group Percentage
Upto 15 yrs 30
16-30 yrs 22
31-45 yrs 18
46-60 yrs 16
61-75 yrs 09
75 and above 05

Percentage of total population for 2011 under different age groups is given.
If there are 45 million people above 45 years, then how many persons will be there in the age

group of 31 — 45 years?
A) 3 million

B) 27 million

C) 36 million D) 25 million

POLICE, ARMY, NAVY, AIRFORCE
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S Lauenenienul Beil@ Lgdhdl, CoHeialdend@ll LUHed HIaD.

QIWIGI SIJIDL] FHMN B HLD

15 euwidl euew) 30

16-30 6uwigl euemy 22

31-45 euwigl 6U6m] 18

46-60 WG| 6U6M] 16

61-75 euWIGl 6Uem] 09

75 euwglbE Gsd 05
ueLBeuml eIIFZIHET6L 2 6iTen QOTHSH WHH6T CFHTendsulen FHaldlsd CHTHHBILL BeTeng. (2011
U EDIDL LIS
45 auwFHBE Bed 45 6Ll WEH6T MHHHTe0, 31-45 auFDLIBH6T TdhHemen CUT HULITTEH6IT?
A) 3 1flevedluwiedt B) 27 if606uieit C) 36 wlsvedluiesr D) 25 fleveSlutest

122. Read the information and answer the question.
When ordered ‘One’, a person has to put one apple in a basket. When erdered ‘Two’, one guava
has to be put. When ordered ‘Three’, one orange has to be put. When-ordered ‘Four’, the person
has to take out one apple and one guava from the basket. The ordersequence followed the
person is:
1233214231422331411223
At the end of the sequence how many fruits will be there in,the basket?
A) 10 B) 11 C)42 D) 13
HBOUML Hell@ LghHaHl, CHealdeEnd@l LHeL SHIan:
‘e’ etel QFTeLeID BCUTHI, @, U6, @M lleven iBHHINT ewLuled GuTL GouewiBld. ‘@Tewi® 6r6on
QFTeoeID CuTEI, @ O&TUILTENIUD, ‘Dl sle QFTeLEID BGUTHI, @M UTEHMFULD THHHIL MLUT6D
Bum Geuewi(hid. ‘Bel@ sl QFTeLEID GUTHL ISIBS BUT wUUTIBBH @ WLITMETUID, @
Qamuiwreneb GCeueflGw eihobs Gausmn(Bib:
1233214231422331411223
slemild auflengliLig Sibsd BUT CFUIHTeD, Siflenglitg HemL Fuled enLUNEL 61HHMET LIPHIG6T EHHEGHD?
A) 10 B) 11 C) 12 D) 13

123. A watch shows 1.30 p.m. If\minute hand is towards South, what is the direction of the hour hand?
A) North B) South — East C) North — West D) North — East
QM OHQETID WHwb 1.30 wewimwd ST.HHBEH. BOL (W1 OHBenad CHTHsl @RmULlsr, Loew
STL(BID (1p6lT 61hHdH Hewgemuwl CrrdHdl Smab@D?
A) alLég B) Osenr Sipsbe, C) aL Guis D) e &ipsE

124. In a group of cows and hens, the number of legs are 14 more than twice the number of heads. Find the
number of cows?
UGHH6T LoBDID CamfseT 2 6ien @palsy, HTe0H6M6i cTeuwTenlbamd Henevderle erewTemntdemabuliler 2
WLBIMS L 14 DFHHID 616lled 61HHMEN LIGicbH6l 2 6iT6Ten ?

A)5 B) 7 C) 10 D) 12

125. In a company, 60% workers are males. If the number of female workers in the company is 800, what is the
number of male workers in the company?
RMBH DANNNVHHEH0 60%0 BCeuemeOUITL H6IT Y EmIH6T YOUT. DIVINIVHHI60 2 66 CLemiesT 800 BLITH6I
SUOUT. 616060 6THHEME  LEWIH6T DlsVINIVBHHL Ceausnev LTSl smeny?
A) 1600 B) 1400 C) 1900 D) 1200
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126. A cricketer scored the following set of scores in the world cup tournament 12,84,7,60,93,134,0,6,35,28.
Find his average score in the tournament?
o6 HNG0s. Ay o s CHTlmU damanumnd 10 CUTinsdd QUDD TarGaTaTg .

12,84,7,60,93,134,0,6,35,28 hgb. dlampaLil GoTdS Taiseat  FITFS e ?
A)45.6 B) 45.7 C)45.8 D)45.9

127. In an exam 80% of students passed in English,85% in maths, 75% in both, 40 students failed in both. Find
the total number of students.
Q0 Caydled 80% wTaraljhal ShbiBOsHMID, 85% WTaTaIiHa Safsdlaid, 75%
DTl S6T ATewigId CHTFS QupDety. 40 WwTaTarfHar AJasiuid CHT
AL hDHer] aafed, GITdHS LDTaTITEHDT 6 TaNHMS BTV .
A) 360 B) 500 C) 400 D) 280

128. A workers receives Rs. 11,250 as bonous which is 15% of his annual salary"What is his monthly salary?
QuaITSG @.11,250 Curatad Sl bdngl. g Slayg Shawip apUTaISSE 15%
dafed, IlaFgl IDTH ABTEID HTEOIS .

A) 7500 B) 9800 C) 6250 D) 8000

129. A man bought a radio for Rs.800 and spent Rs.400 on it. He sold it fer Rs. 1500 then gain % is.
Qual] amGaime Guuew @&.8005g ambidl GueIb @hy400 GFma| GFig @.1500 && NPT eaied

QOTLID % eIt ? -
A) 55% B) 35% C) 25% D) 52%

130. The sum of the two numbers is 40 and theirdifference is 4. The ration of the number is
Aty daibalal Jo bbb 40 & NGHUTFID 4 aailed IlaCaiewiHalar B aarer?
A)11:9 B)10:7 C)20:12 D)11:12

131. In a village of 1,21,000 peopleé the ratio of men to women is 6:5 . The number of men
QB TGSl ekl OFTand 1,21,000 Shavidkal & GUeatisalar dHGIOTMG 6:5 6ahed
bt HelleT 6T 0T T b end 6T 6160 2
A) 33,000 B) 66,000 C) 55,000 D) 44,00

132. The ratio of ages of Jack & Jill is 4:3. The product of their ages is 432. What will be the ratio of their ages
after 18 years
MmE & Bevadar amgisalar AEFD 4:3. DbalTshalar agibaar GLBHHD LeoaT G
432 el 18 apLBIGaBGG LIDG SlaThalar agiSanar b earen?
A)7:6 B) 6:7 C) 5:6 D) 6:5
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133. Ais 3 years younger to B,C is two years older than A, Then B is related to C as
AaaiLialm B -8 dl 3 Dbawipmer DenamalT,C aaiLaTA -8 & 2 DbhawipHar GLifienT

aaled Bearailalm C - &g?
A) 5 years older B) 2 years older C)1 years older D)3 years older

134. If 36 men can do a piece of work in 25 Hrs. in how many hours will 15 men do it in.
36 Dbawidal QB Galmevanil 25 el CHTSHHD PubIHAIDEI] daled 15 Dbewisbe
IlaCaimeeil ahHSHmen el ChTHSled Ly .
A) 45 B) 55 C) 60 D) 65

135. If 7 spiders makes 7 webs in 7 days, then 1 Spider will make 1 web in how many days.
7 SlophBaT 7 QlmeoEHmar 7 BITLS6N0 S PUSHESDG afled 1 eﬂeog,ﬂ 1 alemeoemil HL 1y
PUES TSSO BT HETGLD?
Al B) 7/2 C)7 D) 49

> Directions (Q. Nos. 136-140)
Study the following information carefully and answer the questions given below:
Eight friends A, B, C, D E, F G and H are sitting around a.circle facing the centre. A sits third to the
left of B, while second to the right of F. D does not sit next to A or B. C and G always sit next to
each other. H never sits next to D and C does not sitnext to B.
BDEHBMIL  HHEUOSMENL LIgHdH 6lenmadenhdCsnm CalenL wiemdaasa|Lb.
A/ B,C,DE,FG wBmib H 486wy @f eu L a0 enwwihensd Cbres Siojbdlsieney. A ereLis]
B-ulesr @)L gILmHA60 cpsimreusted o sitenmy. Gevd A yeiel] F-61 aleusimoHHe0 ETewiLTalHrs
o eitenny. D erediuieny A oppid B-ulleir oimalsd @evewev. C opmid G em1BunaIGo SimamEs
@mriueugser. H eteoien D-uleir oimGswd wmmid C steiiueny B-ullsst oimGasuyd  siogeisvensv.

136. Which of the following pairs sits between H and E?
H wompib E-e1 @ew_ B o _eiten Ggmg 61817
A)F, D B)H, B C)C, G D)E, G

137. Who sits to the immediate right of E?
E-6i1 aue0sipsHHed 2 Lamguines SIoJhHaS ey wimj?
A) A B)D C)F D)H

138. Who sits opposite to B?
B-6it 61898y S0 miLeny wimiy?
A) A B)D C)F D)H

139. Who sits to the immediate Left of F?
F-6f QL aIUpHae0 2 Lemouites IDJha U] wimy?
A) D B)H C)A D) E

140. Who sits opposite to G?
G-61 1By 2_sitemeny wimy?
A) D B) F C)E D)H
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REGULAR PHYSICAL ACTIVITY
Morning - 5:30 to 8: 30 am ‘ Evening - 4:30 to 7: 00 pm
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